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Frequency Answers Frequency Solutions Problems

Frequency and Energy Problems
Frequency and Energy Problems

A=c/v ¢=3.00X 108 m/s
4 ’_Yf A -

AE=hv h=6.626x103g#B 1Hz=1s = 5

1) What is the energy of a photon whose frequency is 3.0 X 1012 Hz?
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2) Calculate v for a A = 700,nm. v = ¢/ RAT-=Hanometers M.00 O  pm
Calculate v for a & = 400,nm. v = c¢/) RE-=nanometers

Calculate the energy for each wavelength. N
- Which wavelength has the greatest frequency? Which wavelength has more energy?

3) A red light has a wavelength of 728 nm.
What is the frequency of the light?
What is the speed of the wave in m/s?

4) A purple light has a frequency of 7.42 x 10" Hz.
What is its wavelength?
What is the energy of one quanta of light.

5) You broke your big toe! The x ray they take of toe uses waves that have a length

2.19x 10'%m_~
7at1s the speed of the wave in m/s? - ©

What is the wavelength in nm? 2.4 T (0O
What is the frequency of the x ray?

Frequency Answers

Page 1 of 2



@WW( 'S m enet? of A ?l/wﬁr\/ whose
Mv@wc] s 3,0 w0 e !

y:g = R R
— ((,,(o}w/o”’”j: b_\(’}o»f—/o’?'s \

:m

@ Cﬁ\cu\a’x—ﬁ v /va P U oo, ,um -
& = \:},oowo’}h )

v ‘
LOOr /(0O m'S -

k > ( = i‘/f,l‘\?‘(@ ',%
=y, 00 ¥ 10 M

C.wlw\pf\—o 'z Lo ~ D = tHo00, P

N = -/C)——i" / Qtjbf,ooy/a

— 9 ) '
= 300 %/ N\C :W
.00 ¥ 10”1

I\




Cn/\u/\”\“’* e evenut fo erd VW“’Mjh—

AEP = P Voo FOen T q.39%0 Hx

= (6E¥6xio Mg s)(w.wv‘f" T ‘3

-]

7 -1
_ (cererioT :T«S\(‘%f@"’o 2 \

- Y. 1% 10 " :\’\
er

2
ﬁrczv"w)




0(’ ?L?Nr’\
Uu\w’k e @7/‘"“") of e {nyLJC D
=  SSArY
v 7\_ 1 2Ivm To-:‘:m\ =
— 3,00 y/oy,\l) 1. 2J ¥i10 IV"](CIO .w*\\
/ R A 10 a

/).}Xﬁ/o’q'm B (X;@

)

= Ao

W o \S’\’V/S@u/ﬂ—« ot e wme i ,m’\ .
/tV/lC!C‘ Q',zaf) ot D“ Ereflt = i‘ﬁ o007 19 m‘]

T~ ,_ﬁ_,,_”'_.___‘____r — “L
L A Q“’?‘@/ \"jLA' hos # «Crchcj oA Fuy 0 FE
N
WA winelomgbt
_ &
*e
e L AL
A.HYw 0" ¢ !
U\/l't/ V3 J(\»@ é/v»&v'?/(?-f - e ZWL@, o-“ I'j\“'“— .‘
ANE = T
o -t
((.a C»)—(o‘*/o’j — \(’) o 10 S \

g Vt;ﬁ)—\f/b' - W



(o

@ TNe »4,((,\_75 howe ‘W)k’\— ot X4 107 A .
het O Ne s@qu« o+ Ale wae i~ r~(5 7

/\174(,15—\‘ 2. 066%/0 Bm‘g}

her 1S e Wﬁ\r'rle i e W

Y19 10 (ioﬁm

pER Gyiot e = l Ylaxio M«Y

“otprw )
W\f\v’”(\s/\\’(/ »Cr&tl/uovxcj c‘\/’\/u' 3 .

C

T F 7;
— '3.00\76/08.»»(5

2.4~ /0"9,\,\

-

~ 1Yo

:S 1YY v0 ' B {




